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The average height of troposphere is

nearest in :

(A) Tropics
(B) Middle latitudes
(C) Both (A) and (B)

(D) Polar region

The mean sea level atmospheric pressure
IS :

(A) 1010.25 millibar

(B) 1013.25 millibar

(C) 1111.25 millibar

(D) 1310.25 millibar

The weather phenomena like rain occur
in:

(A) Mesophere

(B) Stratosphere

(C) Troposphere

(D) Thermosphere

The word ‘Monsoon’ is of :
(A) Latin

(B) Indian origin

(C) Arabic

(D) Malayalam origin
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5. TEd IGT & folY Sl A § - 5. The optimum temperature for crop

production is :

(A) 16-18°C (A) 16-18°C
(B) 18-24°C (B) 18-24°C
(C) 22-25°C (C) 22-25°C
(D) 20-30°C (D) 20-30°C
6. So Yo & fdbe PV Serary & § ? 6.  How many agro-climatic zones of U.P are
there ?
(A) 8 (A) 8
B 9 (B) 9
(C) 10 (C) 10
(D) 12 (D) 12
7. fawg A foge feaw #=mm o & 7. The World Meteorological Day is
celebrated on :
(A) 20 T/ B (A) 20th March
(B) 21 Wi @I (B) 21st March
(C) 22 WrE @I (C) 22nd March
(D) 23 #Td @I (D) 23rd March
8. g9l drol 9ISl & ¢ 8. Which is rainy clouds ?
(A) T W HY (A) Nimbostratus
(B) HU 8T Y (B) Cumulonimbus
(C) W W™ (C) Stratus clouds
(D) THI (A) 3R (B) (D) Both (A) and (B)
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10.

11.

12.

The date of onset of monsoon in India is :

(A) 1%June
(B)
(©)

(D)

1% July
1* May

1% August

When the wind speed becomes excessive,

the condition of the atmosphere becomes :

(A) Stable
(B)
©)

(D)

Unstable
Peaceful

Favorable

The transition zone between mesosphere
and ionosphere is :

(A)
(B)
€
(D)

Tropopause
Stratopause
Mesopause

Thermosphere

The
Meteorological

Indian
Department (IMD) is

headquarters of

situated at :
(A)
(B)
(©)
(D)

Pune
New Delhi
Chennai

Shimla

Set-C



13.
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15.

Jedl & TRl 91T Bl 39 WU H ST S
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13.

14.

15.

The liquid part of the earth is known as :

(A) Hydrosphere

(B) Lithosphere

(©)

Biosphere

(D)

Atmosphere

The short range weather forecast is valid

for a period of ............... :

(A) 1-3days
(B) 3-7 days
(C) 10-15days

(D) 30 days or above

A rainy day is one, the day receiving

rainfall :

(A) 1.5 mm or more

(B) 5.0 mm or more
2.5 mm or more

(©)

10.0 mm or more

(D)
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16.

17.

18.

19.

Day and night are result of earth’s :

(A) Rotation
(B) Gravitational force
Revolution

(©)

(D) Coriolis force

Which layer of atmosphere is responsible
for radio communication ?

(A) Troposphere

(B) Stratosphere

(®)

(D) Ozonosphere

lonosphere

The earth rotates on its axis from :
(A) West to East

(B) East to West

(C) North to South

(D) South to North

The distance between the earth and sun is

nearest at :

(A) Solstice
(B)
(©)

(D)

Aphelion
Perihelion

None of the above
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21.
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23.

gedl & ARI AR & A MR BT Il
g

(A) SaHTSd

(B) digHUsc
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(D) RITHUSH
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(A) drgeTd
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(C) A
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(B) il

() amfa

(D) TGN

W gred N & gR1 gl @1 Sl
T 2050 9P §¢ SR

(A)
(B)
(©)
(D)

0.5°-1.5°C
1.5°-5.0°C
5.0°-8.0°C
8.0°-10.0°C
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20.

21.

22.

23.

The gaseous envelope surrounding the
earth is known as :

(A)
(B)
(®)
(D)

Biosphere
Atmosphere
Hydrosphere

Lithosphere

The moisture holding capacity of

atmosphere mainly depends on its :
(A)
(B)
(®)
(D)

Air pressure
Humidity
Temperature

Rainfall

Which gas constitutes about 78% of total

volume of the atmosphere ?

(A) CO;
(B)
(©)

(D)

Oxygen
Argon
Nitrogen

Earth’s average temperature will increase

by 2050 by green house gases :

0.5°-1.5°C
1.5°-5.0°C
5.0°-8.0°C
8.0°-10.0°C

(A)
(B)
(©)
(D)
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24. g GIET” IS BT YA HAYUH 24. The term “Global Warming” was used for
the first time in :

o
(A) 1975% (A) 1975
(B) 1977H (B) 1977
(C) 1980% (C) 1980
(D) 1985% (D) 1985

25. IGIM U @I &fd (§1W) ugae arem 25, The main product that depletes the ozone

T ITE ¥ layer is :
(A) BT CITHANZS (A) Carbon tetrachloride
(B) gcid (B) Halons
(C) TARYARIGIET (C) CFCs
(D) Sugad Fl (D) All of the above
26. f9 gow T4 H q® ®U ¥ W WM 26, The gases mainly found in green house
arehl I ¥ gases are :
(A) CO,, CHy4, N,O TIT CFCs (A) COgz CHy, N2O and CFCs
(B) COgy, SO,, N, @I CFCs (B) COgz SOz Nz and CFCs
(C) CHy, SO;, N, TIT CO, (C) CHy, SO3, N3 and CO;
(D) SUYa H § I Tl (D) None of the above
27. offe uRadd Tfd & gRT 3 G 27. Changes in  atmospheric  pressure
W e/ ¥ uRadT 8 ¥ during.......... by the rotation of diurnal
change.
(A) fad (A) Day
(B) fa71 3R W (B) Day and night
©) Bacl T (C) Only night
(D) SUYa H A Bl 7l (D) None of the above
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28. HIGH IqUE fevmey Red 2 28. Directorate of Weather Satellite is located

at :

(A) IR # (A) Nagpur

(B) % faeell ¥ (B) New Delhi
(C) feram # (C) Shimla

©) g (D) Pune

290. HY HUl §6 T dP B Sdls W 29. Altocumulus clouds are found upto

T E height of ................ .
(A) 2-6 fdhHlo (A) 2-6 km

(B) 6-8 fdlo (B) 6-8km

(C) 8-10 flo (C) 8-10 km

(D) 10-15 fblo (D) 10-15km

30. ufd-dhard, dsharal & WY Told & aul 30. Anti-cyclones follow cyclones and have a

speed of......... km/hour.

E’dﬁ‘ﬁ ............. o ufd wer B B |

(A) 10-15 (A) 10-15
(B) 15-30 (B) 15-30
(C) 30-50 (C) 30-50
(D) 50-60 (D) 50-60
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31. ‘Gel E{fIE e’ e @ A g‘s‘ 31. The word ‘Climatology’ 1is originated

3. from :

(A) olfes 7 9 (A) Latin word

B) W 7=< A (B) Greek word

(C) T I W (C) German word

(D) SUYa H H IS el (D) None of the above

32 tc{?,?fﬁ W U8 O dTell SIEIE CIRCE 32. The science that discusses the climates

B el IS pEear & found on the earth is called :
(A)  FeTSHCIT (A) Climatology

(B) TIHITCARIATSI (B) Agrometeorology

(C) deRIam (C) Weatherology

(D) SUgad JHI (D) All of the above

33. HH e o SURT oRw & URIg 7 33. Meteorology is originated from the

.......................... J ET%‘ | famous book of Aristotle :
(A) TgSIaiid (A) Hydrologica

(B) HfeaRIAMTH (B) Meteorologica

(C) TI-HfeaRIAT®T (C) Agro-Meteorologica
(D) SUYa H A Bl 7l (D) None of the above
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34, ‘FATSHY U BT 3 § 34. The word ‘Klima’ means :

(A) 3 (A) Latitude
(B) drg (B) Altitude
(C) @ (C) Angle
(D) id (D) Slope

35. 3 AR A (VSRF) © dd 35. Very Short Range Forecasting (VSRF)

@1 Qe BT B 2 | forecast upto

(A) 6HC (A) 6 hours

(B) 12 ® (B) 12 hours

(C) 24 ©T (C) 24 hours

(D) 72 ©T (D) 72 hours

36. Pdog AIGH fIsTT duwmer Reod g ¢ 36. Central Meteorological Observatory is

located at :

A g (A) Pune

(B) % facen # (B) New Delhi

(C) AR H (C) Jaipur

(D) =g # (D) Chennai
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37. INSAT & {1 M @ : 37.  Full form of INSAT is :

(A) ¥RAN T IUIE (A) Indian National Satellite

(B) IR fagm 3R drenfian (B) International Science and
Technology

(C) ARG I a5 vd drenfia (C) Indian National Science and
Technology

(D) ST AR (D) Institute of Satellite

38. fiwg A9 fag@m wred @ WUAr 38. World  Meterological  Organization

Eﬁ : (WMO) was established in :
(A) 1948 (A) 1948
(B) 1951% (B) 1951
(C) 1975% (C) 1975
(D) 1980 H (D) 1980
39. A YAIAM & fafdy 7 39. The method of weather forecasting is :
(A) A faf (A) Path method
(B) ¥fderdt arg fafdy (B) Geostrophic wind method
(C) WHTd Yaurar fafer (C) Isobaric gradient method
(D) Sugad FI (D) All of the above

AG-4008 (13) Set-C



40. foa-yfafes o) 9w & Red & fAfderar 40. e is a composite of the variety of

&1 e e | day to day weather condition.
(A) HH (A) Weather
(B) Sictdrg (B) Climate
(C) 3l (C) Average
(D) #@ (D) Clouds
41. IR oI f3HI @ - 41.  Freezing point of mercury is :
(A) 0°C (A) 0°C
(B) 39°C (B) 39°C
(C) 45°C (C) 45°C
(D) 49°C (D) 49°C

42. 9% Td W W@Fﬁ'{[ e B HH 42. The value of atmospheric pressure at sea

B 2 level is :

(A) 1011 WellaR (A) 1011 millibar
(B) 1013 fAellaR (B) 1013 millibar
(C) 1100 MellaR (C) 1100 millibar
(D) 1113 MellaR (D) 1113 millibar
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43. EIford W@?ﬁa <9 9P 2 43. Automatic atmospheric pressure recorder

is:

(A)  oENTH (A) Thermograph
(B) RIS (B) Barograph
(C) TTSCHITH (C) Hyetograph
(D) SRR (D) Barometer
44, 100 MheR fhdd TR & ? 44. 100 millibars is equal to :
(A) 2953 39 (A) 29.53inch
(B) 10349 (B) 1.0inch
(C) 31434 (C) 3.14inch
(D) 340 %9 (D) 34.0inch
45. YGIford 98] H19P I § 45. Automatic rainfall measuring instrument
IS :
(A) TZSITH (A) Hyetograph
(B) BIESUTH (B) Hydrograph
© SEIp (C) Thermograph
(D) TS (D) Nomograph
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46. 9 Fhard BT [dHTd I U B, I SqD 46. When the development of a cyclone is a

_— curved path, then its speed :
(A) ¢ S © (A) Increases
(B) 9 oI B (B) Changes
(C) T g (C) Decreases
(D) ReR =M B (D) Remains constant
47. fyoie % auf 42 @1 SR & § 47.  In drizzle size of rain drop occurs :
(A) 05 (A) 05mm
(B) 1-2.0 f. (B) 1-2.0 mm
(C) 2-5 fl. (C) 2-5mm
(D) 5.0 Ao & AP (D) >5.0mm
48. 99T &I &1 A TP BIT 2 | 48. Diameter ~ of  rain  drop s
310116 JON mm
(A) 05 o § &H (A) <05
(B) 05-7.0 fAHlo (B) 0.5-7.0
(C) 2-50 Ao (C) 2-5.0
(D) 5-50 fHHlo (D) 5-50

AG-4008 (16) Set-C



49. 99 97 qET AR Hed 2 49.  Amount of rainfall depends upon :

(A) dYerd ) (A) Air pressure
(B) dIgHTSA B Mgdl W (B) Humidity of Atmosphere
(C) |lcfdsh WX (C) Hydrological cycle
(D) A WX (D) Temperature
50. WRd H AT 997 Bl © 50. In India Monsoon rainfall occurs
through :
(A) <lrf-uledl JeegE | (A) South-West Monsoon
(B) ¥id AR & (B) Winter Monsoon
(©) Bﬂﬁ—q}ﬁﬂﬁﬁf{@f (C) North-East Monsoon
(D) E@“ﬁ—%ﬁﬂﬁ?ﬁﬁ (D) South-East Monsoon
51.  3AYSH WRd & alg ds urg 51. Ozonosphere layer is found upto height
S 2 of :
(A) 18-30 fHlo (A) 18-30 km
(B) 30-60 fdhilo (B) 30-60 km
(C) 60-90 fdHlo (C) 60-90 km
(D) 500 fdHio (D) 500 km
52. EVHUSH &I URA qIgHvSC! q P 52. Troposphere layer is found upto ..........
SAE qF TS ol B | height of atmosphere.
(A) 0-18 fdHlo (A) 0-18 km
(B) 18-30 fdhHlo (B) 18-30 km
(C) 30-60 fdHlo (C) 30-60 km
(D) 60-90 fhilo (D) 60-90 km

AG-4008 (17) Set-C



53.

54.

55.

56.

AG-4008

DI I agAvS B 98% U AEed 53,

W BT BR T & 7

(A) TEEA R BT SIE3ifRIgs
(B) ISEISH 3R feRirerT

(C) JifRioH 3R P SrRifaTsS
(D) JifRIH 3R BZSIoH

EIACCCH ISR FeiRe &1 54

FHved A 9Ys dd 9
AGATES B SATg D U AN 7 |
(A) 0-20 fhelo

(B) 20-60 fhilo
(C) 90 fdHio
(D) 500 fvHlo ¥ atfrd

A9 & UCh B 56.

(A) A

(B) gl U4 qul
(C) R fafawor
(D) ST W

(18)

Which gases cover more than 98% part of
the atmosphere ?

(A) NandCO,
(B) N and Oxygen
(C) Oxygen and Carbon dioxide

(D) Oxygen and Hydrogen

The wind vane is used to determine :

(A)  Wind speed

(B) Wind pressure

(C) Wind direction

(D) All of the above

Homosphere layer is found mean sea
level upto ........... height of atmosphere.
(A) 0-20 km

(B) 20-60 km

(C) 90 km

(D) above 500 km

Components of weather are :

(A) Temperature

(B) Humidity and Precipitation
(C) Solar radiation

(D) All of the above

Set-C



57. UHEHAM qYAvSEd 314 $ D & | 57. The line of equal atmospheric pressure is

called :
(A) WG XE (A) Isobar
(B) NIHATY T (B) Isotherm
(C) FHHETDIAT (C) lsoheph
(D) \HgRe X (D) Isohyetal
58. UAd 900 BIic I $als W dIYAvSAy 58, Every 900 feet height decreases the
S — & T B 2 atmospheric pressure :
(A) 34 FelER (A) 34 millibar
(B) 54 el (B) 54 millibar
(C) 29 feflaR (C) 29 millibar
(D) 1013 AellaR (D) 1013 millibar
59. ISR & Wdryg & 59.  Climate of Rajasthan is :
(A) T 3R g (A) Hot and humid
(B) TSI IR g (B) Cold and humid
(C) TH 3R I (C) Hotand dry
(D) TS 3R TP (D) Cold and dry
60. TSR g¥ Faed Yorl Rerd 7 60. National Remote Sensing Agency
(NRSA) is situated at :
(A) TGS | (A) Lucknow
(B) ENIEIE H (B) Hyderabad
(C) e H (C) Bengaluru
(D) % fowell ® (D) New Delhi

AG-4008 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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11.

12.
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o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
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fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
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STR AT <781 81 |
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